BEANRE B2 B R A SR E LT XIS aHh(-13m)R L 88

£ g - AKTiE B H =2 i & 8 m =
EZHEE 3,431,073
BEFEHE 3,431,073
TILFE—LBIR 3,431,073
TILFE—LBIR 3,321,073
RIS XElE 575, 413
1 B E% R 1.00 464, 499 464, 499
=
2 HEMIERR 2FEZY) 1.00 110,914 110,914
=
KiEH=E 1,175, 554
SEBETRXH 1.00 612, 641 612, 641
=
4 TILFE—LARGERN) 0.83 573, 286 475, 827
km2
5 TILF E—LBIEGEN) 0.12 125,724 87,086
km2
BRISFHE 234,731
6 BRTSHE 1.00 234,731 234,731
=
B E{E Rk 73, 225
7 RE{ERk 1.00 73, 225 73, 225
a4 7
BR 1,262, 144
8 MEEIER 1.00 1,262,144 1,262, 144
=
EERE 110, 000




BEANRE B2 B R A SR E LT XIS aHh(-13m)R L 88

[EES 96, 000

9 EHHES 1.00 96, 000 96, 000
=

k& 14,000

10 fe# 1.00 14,000 14,000
=




RiEx WEESEELBRELTHRMS - HH-13mREHE
% g - AKTiE Bifr 2 fiff & #B w E

EEUER 3,123,111
HRE 3,123,111 x 74.9% — 2 321 2,336, 889
ABEEE 3,123,111 + 2,336, 889 5, 460, 000
B IR 300,400 + 7,562 307, 962
EEAGE 300, 400
EEEE 7,562
< Ottt IR 300,400 x 53.85% ( 35% + (1 — 35%)) 161,765
EHRIE 307,962 + 161,765 469,727
—REERE 469,727 x 53.85% ( 35% + (1 — 35%) ) — 2,674 250, 273
ABREE 469,727 + 250, 273 720, 000
e T 5,460,000 + 720,000 6. 180, 000
HBEREELE 6,180,000 x 10.00% 618, 000
ABERE 6,180,000 + 618,000 6,798, 000




Rifiz -/ \v7r—o

WEEERREERELH XM - AM-13mRZAE

51
&% MEER X2y
% FR A& - IR B 2 B ' # = w =
8 E AT
A 3.00 45, 700. 00 137,100
8 FAm
A 5.00 40, 000. 00 200, 000
SRR
A 4.00 30, 700. 00 122, 800
MM =3OV
% 1.00 459, 900. 00 4,599
a & 1E5HAEH : 1. 00K 464, 499. 00 464, 499
55 :2
B HAMERQEEZY) X5y
% FR & - IR B 2 B ' # = w =
REHPE
A 2.00 24, 200. 00 48, 400
FSwd 2t1E
= 2.00 30, 708. 00 61,416 4. 70H / 8H
MM =3OV
% 1.00 109, 816. 00 1,08
& F fE8EH ¢ 1.00% 110, 914. 00 110,914




Rifiz -/ \v7r—o

WEEERREERELH XM - AM-13mRZAE

%5 :3
B BBETR b 1RXHY
% 5 R - AR R BAf = B {f £ W = &
REE S4 kY 2L
B 1.00 3,127.00 3,127/2.00H / 8H
B2 F T HED
A 1.00 45, 700. 00 45,700
B S HER
A 1.50 40, 000. 00 60, 000
BB
A 1.50 30, 700. 00 46, 050
BIEBNF
A 1.00 29, 600. 00 29, 600
BIE M FRP D 70PSZE!
B 1.00 72, 299. 00 72,299 8H
GNSS;BIf 2= & DGNSS
B 1.00 18, 150. 00 18, 150
TILF E—LEERIEE 36~455kHz
B 1.00 331, 650. 00 331, 650
P PR 2EDY
% 1.00 606, 576. 00 6, 065
= 5 1YE%HeH - 1.00K 612, 641. 00 612, 641




Rifiz -/ \v7r—o

WEEERREERELH XM - AM-13mRZAE

E2=
B TILTFE—LAEGER) 1BHY (0.9km?2)
£ 7 R - BIRTE BARL 2 B Of € W E B &

REE S4 kY 2L

B 1.00 3,127.00 3,127/2.00H / 8H
B FRP D 70PSZE!

B 1.00 72, 299. 00 72,299 8H
BIEFEHED

A 1.00 45, 700. 00 45,700
B S HER

A 1.00 40, 000. 00 40, 000
B = H AR

A 1.00 30, 700. 00 30, 700
BIEBF

A 0.50 29, 600. 00 14, 800
GNSS;BIf 2= & DGNSS

B 1.00 18, 150. 00 18, 150
TILFE—LEERE 36~455kHz

B 1.00 331, 650. 00 331, 650
AR L NOY

% 2.00 556, 426. 00 11,128
= 5 YEEREN :0.99km2 573, 286. 00 567, 554




Rifiz -/ \v7r—o

WEEERREERELH XM - AM-13mRZAE

E =)
B TILTF E—LGALE (B 1TB&HY (0.9km2)
£ 7 R - KT By = B Of & | W E B &
TEE S4 kY 2L
B 1.00 3,127.00 3,127/2.00H / 8H
B FRP D 70PSZE!
B 1.00 93, 053. 00 93, 053 8H
BIEFEHED
A 1.00 45, 700. 00 45,700
B S HER
A 1.00 40, 000. 00 40, 000
B = H AR
A 1.00 30, 700. 00 30, 700
BIEBNF
A 0.50 29, 600. 00 14, 800
GNSS;BIf 2= & DGNSS
B 1.00 24, 750. 00 24, 750
TILF E—LEERIEE 36~455kHz
B 1.00 452, 250. 00 452, 250
AR L NOY
% 2.00 704, 380. 00 14, 087
= 5 1E%HREN :0.99km 2 725, 724. 00 718, 467
ES:6
& BEIEHE 1LY
£ 7 R - BAKTiE By = B Of & | W E B =
FEHED (55
A 1.00 57, 400. 00 57,400
HEn (A)
A 1.50 51, 200. 00 76, 800
HER (B)
A 1.50 40, 600. 00 60, 900
A (C)
A 1.00 32, 800. 00 32, 800
EHARE EEAMEDY
% 3.00 2217, 900. 00 6, 837
= it 1YE%HeH - 1.00K 234, 7317. 00 234,137




Rifiz -/ \v7r—o

WEEERREERELH XM - AM-13mRZAE

&5 .17
2 R 19474y
£ 7 R - BIRTE BARL 2 B Of | # B &
Hftt 8
A 2.50 29, 000. 00 72, 500
EHARE EEAMEDY
% 1.00 72, 500. 00 125
= it TEZEREH - 1.002 4T 73, 225.00 73,225
%5 :8
B MESER =1
£ 7 R - BIRTiE BAGL 2 B Of | # B =
BIEFEHED
A 4. 60 45, 700. 00 210, 220
B S HER
A 14. 80 40, 000. 00 592, 000
B = H AR
A 13. 40 30, 700. 00 411, 380
AR L NOY
% 4.00 1, 213, 600. 00 48, 544
= 5 1YE%HeH - 1.00K 1,262, 144. 00 1,262, 144
&5 :9
B EBBRR =1
£ 7 R - BIRTiE BAGL 2 B Of o # B =
XBRRRE
= 1.00 96, 000. 00 96, 000
= it 1YE%HeH - 1.00K 96, 000. 00 96, 000
=:10
2 RkE =1
£ 7 R - BIRTiE BAGL 2 B Of o # B =
XRE HEE (GES)
= 1.00 14, 000. 00 14, 000
= 5 1E%HeH - 1.00K 14, 000. 00 14, 000




Hifix—% B2 B R A SR E LT XIS aHh(-13m)R L 88
No. # 1B - Pkt By i BERS (H) | #SfEiNo. iE-L RATR IR - Bk T
1 r39% 2t 2 HeHER QEESY)
=] 30,708 4. 70H / 8H
2 RXBHE S4 kN2 2L IMBETFR
=] 3,127/ 2.00H / 8H
4 TILF E— LEE GER)
5 TILFE—LBIR GBS
3REM FRP D 70PSE! IWETR L
=] 72,299 8H
4 TILF E— LEE GER)
4Bl = FRP D 70PS%Y 5 TILFE—LBIR GBS
=] 93, 053 8H




Bl

WEEERREERELH XM - AM-13mRZAE

HfiRES : 1
BERAH: RSy 2t 1E%Y 4.70H / 8H
% # Mg - AR TiE B g B # % =

E3:
i L 20.00 116. 70 2,334
EEF (—H)

A 1.00 24, 500. 00 24,500
B (FSy o [EaR]) 2t15

i 4.70 245..00 1,151 BT

B (FSy o [EaR]) 2t15

B .13 2,410.00 2,723 f#me
O 30, 708
HfRES : 2
HfiREH  BE SA bV 2 TBZY 2.00H / 8H

% # Mg - AR TiE B g L i # ® =

AVIY

L 6.00 146. 00 876
B (54 MU [ZEHREEB]) REFHEIE HRE2 0L

i 2.00 275..00 550 BT

B (54 MU [ZHREEB]) REFHEIE HRE2 0L

B 1.19 1, 430.00 1,701 f#me

& &

3,127




BifE WA ESAESERELHHEME- HbC 3T AR
HifiR&ES : 3
% FR R - MRk B 2 B i ® & i w &
EihA
L 44.00 84.50 3,718
SRmE
A 1.20 28, 900. 00 34,680 3=1.20
B (@M [FRPR]) D 70PSZE! 3. 0GT
=] 1.00 3, 200. 00 3,200 PEE =]
BH (@M [FRPR]) D 70PSZE! 3. 0GT
=] 1.65 3,010. 00 4,966 a=1.65 #AR
RGEHE
% 25. 36 46, 564. 00 11, 808
—REEE
% 23. 86 58, 372. 00 13,927
& & 72,299
HifiRE&ES - 4
% FR R - MRk B 2 B i ® & i w &
EihA
L 44.00 84.50 3,718
SRmE
A 1.60 28, 900. 00 46, 240 3=1.60
BH (@M [FRPR]) D 70PSZE! 3. 0GT
=] 1.00 3, 200. 00 3,200 bEE =]
BH (@M [FRPR]) D 70PSZE! 3. 0GT
=] 2.25 3,010. 00 6,772 a=2.25 #AR
RGEHE
% 25. 36 59, 930. 00 15,198
—REEE
% 23. 86 75,128. 00 17,925
& & 93, 053




